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 Let the rv X be uniformly distributed over the interval [0, c], c > 0, i.e., X~ U(0,c); then 
its pdf is given by 

                             f(x) = 1/c, 0  x  c, and 0 elsewhere. 

Then, the density of T = X1+ X2, where X1and X2 are iid as U[0, c] is called the 2-fold 
convolution of U[0,c] and is given by 

          f(2)(t) = 
2
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t / c , 0 t c

( t 2c) / c ,c t 2c

  
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, and zero elsewhere. 

In order to obtain the 2-fold convolution of U(a, b), b > a, c = b  a, we have to make a 

transformation such that the lower limit of the interval 0  t  c will change to 2a, i.e., we must 
let y = t+2a.  At t = c, y = c+2a = a+ (c+a) = a+b , and at t = 2c, y = 2c +2a =2(a+c) = 2b. Letting 

c = b  a > 0 be the Uniform-base, then 

                      f(2)(y) = 
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, and zero elsewhere. 

The 3-fold convolution of U[0,  c] is given by 

                      f(3)(t) = 
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In order to obtain the 3-fold convolution of U[a, b], let y = t+3a; at t = c, y = 2a+(a+c) = 2a+b. At 
t = 2c, y= 2c+3a = a +2(a+c) = a+2b, etc.  

                    f(3)(y) = 
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where c = b a is the base of the U[a,  b]. 

The 4-fold convolution of U[0,  c] is given by 
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In order to obtain the 4-fold convolution of U[a, b], let y = t+4a; at t = c, y = 3a+(a+c) = 3a+b. At 
t = 2c, y= 2c+4a = 2a +2(a+c) = 2a+2b, at t = 3c, y= 3c+4a= a+3(a+b)= a+3b; at y= 4c, y= 
4(a+c)=4b.  

The resulting 4-fold convolution of U[a,  b] is given by 

 f(4)(y) = 
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The 5-fold convolution of U[0,  c], also denoted as U(5)[0, c], is given by 

                   f(5)(t) = 
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In order to obtain the 5-fold convolution of U[a, b], let y = t+5a; at t = c, y = 4a+(a+c) = 4a+b. At 
t = 2c, y= 2c+5a = 3a +2(a+c) = 3a+2b, at t = 3c, y= 3c+4a= a+3(a+b)= a+3b; at y= 4c, y= a + 
4(a+c)= a+4b, and at t= 5c, y= 5b. 

The 6-fold convolution, U(6)[0, c], is given by 

  f(6)(t) =
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In order to obtain the 6-fold convolution of U[a, b], let y = t+6a in f(6)(t) and obtain the limits as 
shown above.  

The 7-fold convolution of U[0,  c] is given by 

  f(7)(t) =
6 7
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As before, to obtain the 7-fold convolution over the interval [a, b], let y = t+7a and c= ba, b > a. 

The 8-fold convolution of U[0, c] of is given by f(8)(t) = 
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In order to obtain the 8-fold convolution of the U[a, b], replace t with x8a in the above 8-fold 

convolution and change limits of the first interval to 8a  x  7a+b, 2nd interval to 7a+b  x  

6a+2b, 6a+2b  x  5a+3b, 5a+3b  x  4a+4b, 4a+4b  x  3a+5b, 3a+5b  x  2a+6b, 2a+6b  

x  a+7b, and the last interval limits to a+7b  x  8b.  The following table gives the exact cdfs 
of the U(8)[0,1] at x =1, 2, 3, 4, 5, 6, 7,  8, and the corresponding normal approximation. 

      The exact cdf       The normal approximation 

   0.000024801587302    0.000119281727014 

   0.006150793650794    0.007152939217715 

   0.112624007936508    0.110335680959923 



   0.112624007936508    0.110335680959923 

   0.500000000000000    0.500000000000000 

   0.887375992063492    0.889664319040077 

   0.993849206349254    0.992847060782285 

   0.999975198412748   0.999880718272986 

   1.000000000000049   0.999999518321496 

The above table shows that at the left-tail the normal approximation underestimates the quantiles 
of U(8)[0,1] and vice versa at the upper tail.  For example the exact Q0.006151 = 2 while that of the 
normal approximation q0.006151 = 1.956.  While at the right tail, Q0.99385 = 6 while the 
corresponding normal approximation is q0.99385 = 6.043995.   


